RESOLUTION 20-119

A RESOLUTION OF THE CITY OF PANAMA CITY BEACH, FLORIDA, AUTHORIZING THE PURCHASE OF PIPE AND FITTINGS FROM EMPIRE PIPE AND SUPPLY COMPANY, INC., FORTILINE, INC., AND LANIER MUNICIPAL SUPPLY CO., INC., IN THE TOTAL AMOUNT OF \$115,263.64, AS MORE SPECIFICALLY SET FORTH IN THE BODY OF THE RESOLUTION.

BE IT RESOLVED that:

- 1. The appropriate officers of the City are authorized to accept and deliver on behalf of the City that certain Agreement between the City and Empire Pipe and Supply Company, relating to the purchase of two mechanical joint sleeves (long) with cement liner, six 16- and 18-inch Restrainers, and eight 16-, 18-, 20-, 24-, and 36-inch Bolt and Gasket sets, in the basic amount of Five Thousand, Five Hundred Fifty Dollars and Six Cents (\$5,550.06), in substantially the form attached and presented to the Council today, with such changes, insertions or omissions as may be approved by the City Manager and whose execution shall be conclusive evidence of such approval.
- 2. The appropriate officers of the City are authorized to accept and deliver on behalf of the City that certain Agreement between the City and Fortiline, Inc., relating to the purchase of 18 linear feet of push on joint 36-inch ductile iron pipe (gauged) with epoxy liner, 18 linear feet of mechanical joint 16-, 18-, 20-, and 24-inch ductile iron pipe (gauged) with cement liner, and 18 linear feet of push on joint 36-inch ductile iron pipe (gauged) with cement liner, in the basic amount of Fourteen Thousand, Two Hundred Fifty Nine Dollars (\$14,259.00), in substantially the form attached and presented to the Council today, with such changes, insertions or omissions as may be approved by the City Manager and whose execution shall be conclusive evidence of such approval.
- 3. The appropriate officers of the City are authorized to accept and deliver on behalf of the City that certain Agreement between the City and Lanier Municipal Supply Co., Inc., relating to the purchase of 18 linear feet of mechanical joint 16-, 18-, 20- and 24-inch ductile iron pipe

(gauged) with epoxy liner, two 16-, 18-, 20-, 24-, and 36-inch mechanical joint solid sleeves (long) with epoxy liner, one 36-inch mechanical joint gate valve, and six 20-,24-, and 36-inch restrainers, in the basic amount of Ninety Five Thousand, Four Hundred Fifty Four Dollars and Fifty Eight Cents (\$95,454.58), in substantially the form attached and presented to the Council today, with such changes, insertions or omissions as may be approved by the City Manager and whose execution shall be conclusive evidence of such approval.

THIS RESOLUTION shall be effective immediately upon passage.

PASSED in regular session this // day of ______, 2020.

CITY OF PANAMA CITY BEACH

Bv:

Mark Sheldon, Mayor

ATTEST:

Jø Smith, Interim City Clerk

BID TABULATION - PIPES & FITTINGS BID DATE: MAY 21, 2020 2:30 P.M. CITY OF PANAMA CITY BEACH

20

22

Date

Certified by

3id Amount \$1,826.82 \$2,069.10 \$2,668.68 \$3,364.74 \$1,999.08 \$2,388.24 52,630.52 \$4,794.48 \$3,708.00 \$1,020.00 \$3,222.00 \$69,800.00 \$1,020.00 \$1,650.00 \$4,890.00 \$1,541.34 \$1,138.00 \$1,354.00 \$2,822.00 \$4,437.00 \$798.00 \$240,00 \$320.00 \$774.00 \$224.00 \$280.00 Lanier \$1,826.82 \$2,069.10 **Unit Price** \$2,630.52 \$3,364.74 \$3,708.00 \$34,900.00 \$1,999.08 \$2,388.24 \$4,794.48 \$1,541.34 \$2,668.68 \$510.00 \$1,611.00 \$4,437.00 \$170.00 \$200.00 \$275.00 \$399.00 \$1,411.00 \$129.00 \$815.00 \$569.00 \$677.00 \$28.00 \$30.00 \$35.00 \$40.00 \$80.00 **Bid Amount** \$2,506.68 \$2,770.92 \$3,478.68 \$1,863.54 \$2,127.96 \$2,681.28 \$1,001.16 \$1,241.58 \$1,724.16 \$1,363.86 \$1,596.74 32,145.78 55,324,22 \$1,621.26 \$4,507.20 \$1,121.96 \$2,034.78 \$4,800.96 \$2,471.14 \$3,734.00 573,640.00 \$5,088.12 \$184.40 \$706.80 \$205.60 \$245.84 \$177.28 BEDDER Empire **Unit Price** \$36,820.00 \$2,145.78 \$2,506.68 \$2,770.92 \$3,478.68 \$1,621.26 \$1,863.54 \$2,127.96 \$2,681.28 \$1,017.39 53,734.00 \$5,324.22 \$4,507.20 \$681.93 \$2,400.48 \$166.86 \$1,235.57 \$117.80 \$287.36 \$560.98 5848,02 5798.37 \$206.93 \$22.16 \$23.05 \$25.70 \$30.73 **Bid Amount** \$2,145.60 \$2,506.60 \$3,478.60 \$1,216.62 \$1,677.24 \$2,413.08 \$2,771.00 52,788.38 \$1,422.40 \$75,789.48 \$2,055.24 \$4,006.20 \$1,459.08 \$1,915.02 \$1,170.10 \$1,665.26 \$2,122.10 \$5,006.80 \$2,577,18 \$4,409.05 \$5,798.52 \$340.48 \$1,350.88 \$1,488.66 \$907,14 \$251.76 \$284.80 \$243.76 Fortline Unit Price \$2,506.60 \$3,478.60 37,894.74 \$2,771.00 \$4,006.20 \$1,459.08 \$1,677.24 \$1,915.02 \$2,413.08 \$2,788.38 \$711.20 \$1,061.05 \$2,503.40 \$4,409.05 \$151.19 \$202.77 \$1,288.59 \$585.05 \$832.63 \$966.42 \$248.11 \$342.54 \$30.47 \$31.47 \$35.60 \$42.56 \$168.86 Mechanical Joint Solid Sleeve (Long) with Cement Liner Mechanical Joint Solid Sleeve (Long) with Epoxy Liner Quantity Ductile Iron Pipe (Gauged) with Cement Liner Ductile fron Pipe (Gauged) with Epoxy Liner ជ ជ ជ ជ వ ស ស ស Æ **សស** 3 వ \$ ន 5 **ជជជជ**ជ ជ៩ ៩ ៩ ៩ Stainless Steel Tapping Sleeve A. Of Pipe to MJ Fitting Type Mechanical Joint Gate Valve A. 18 LF Mechanical Joint A. 18 LF Mechanical Joint B. 18 LF Push-On Joint B. 18 LF Push-On Joint **Bolt and Gasket Kits** 36-x12-inch Restrainers 20-inch 24-inch 18-inch 36-inch 18-inch 24-inch 36-inch 18-inch 36-inch 24-inch 16-inch 16-inch 20-inch 36-inch 16-inch 18-inch 20-inch 36-inch 16-inch 20-inch 24-inch Seinch 18-inch 20-inch 24-inch 16-inch Item No. ~ m

S ø ~

90

4

SECTION 00030

BID PROPOSAL FORM

This proposal of Enpire Pipe and Supply Co. Tex (hereinafter called "BIDDER"), organized and existing under the laws of the State of Florida, doing business as Enpire Pipe and Supply Co. Tex (a corporation, a partnership or an individual), is hereby submitted to the CITY OF PANAMA CITY BEACH (hereinafter called "OWNER").

By submission of this BID, each BIDDER certifies, and in the case of a joint BID, each party thereto certifies as to its own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this BID with any other BIDDER or with any competitor.

The Undersigned, as Bidder, hereby declares that they have examined the bid specifications and informed themselves fully in regard to all conditions pertaining to the equipment to be supplied.

The Bidder proposes and agrees, if this proposal is accepted, to contract with the <u>City of Panama City Beach</u> for the unit price listed, in full and complete accordance with the shown, noted, described and reasonably intended requirements of the Specifications and Drawings to the full and entire satisfaction of the City of Panama City Beach, Florida, with a definite understanding that no additional money will be allowed for extra work/materials. Payment of 100% of contract amount will be made to the supplier within 30 days of delivery and acceptance by the OWNER. The Bidder further proposes and agrees hereby to furnish any required shop drawings within two weeks of receipt of a signed purchase order and furnish and deliver to the point of delivery within four consecutive weeks (28 calendar days) from approval of shop drawings unless indicated otherwise on the Bid Form.

Purchase will be made under terms and conditions specified by City in its form of Purchase Order. If a deposit is required, it must be specified below. Final payment, in readily available funds, will be made upon acceptance by City of strictly conforming goods after delivery and acceptance by the City. Strict adherence to the

Specifications and associated Drawings is required.

BIDDER acknowledges receipt of the following ADDENDUM:

Addendum No. 1 Empire Pipe and Supply - Kevin Clark
Addendum No.
Addendum No.

BASE BID:

<u>Item</u>						Additional Delivery Time (in calendar
<u>nem</u> No.	Description	Unit	Quantity	Unit Price	Bid Amount	days beyond 28 days)
1	Ductile Iron Pir				<u>Dia Amount</u>	zo days)
	A. 18 LF Mech			LEPONT EMICI		
	16-inch	EA	1	\$ 2145. 78	\$ 2145.78	UD \$ 100
	18-inch	EΑ	1	\$ 2504.68	\$ 2500.68	Up to Loc
	20-inch	EA	1	\$ 2770,92	\$ 2770.92	Up to loo
	24-inch	EA	1	\$ 3478.69	\$ 3478.4	Up 45 100
	B. 18 LF Push-	On Jo	int			-
* SEE NO	36-inch	EA	1	\$ 5324.22	\$ 5324.22	up to loo
2	Ductile Iron Pir	e (Ga	uged) with			
	A. 18 LF Mech			_		
	16-inch	EΑ	1	\$ 1621. 26	\$ 1621.26	up te 100
	18-inch	EΑ	1	\$ 1863.54	\$ 1863,54	UP -10 100
	20-inch	EΑ	1	\$ 2127.90	\$ 2127.96	Up ts 100
	24-inch	EA	1	\$ 2621.25	\$ 2681.29	120 to 100
	B. 18 LF Push-	On Jo	int			
* SEF Note	36-inch	EA	1	\$ 4507.20	\$ 4507.20	UP to 100
3	Mechanical Jo	int Soli	d Sleeve	(Long) with Epox	y Liner	
	16-inch	EA	2	\$ 560.93	\$ 1121.96	
	18-inch	EA	2	\$ 681.93	\$ 1363. 80	Ø
	20-inch	EA	2	\$ 798.34	\$ 1596. 34	08
	24-inch	EA	2	\$ 1017. ==	\$ 2034. 18	05
	36-inch	EA	2	\$ 2400.48	\$ 4800.96	Ø
4	Mechanical Jo	nt Sol	d Sleeve	(Long) with Ceme	ent Liner	
	36-inch	EA	2	\$ 1235.5	\$ 2471.14	
the			•	otile Ion Be	available. We	have included the unit
Cos	t of our "	36" 1	ماره مين	1.0		

BASE BID (CONT'D)

<u>ltem</u>						Additional Delivery Time (in calendar days beyond
<u>No.</u>	<u>Description</u>	<u>Unit</u>	Quantity	Unit Price	Bid Amount	28 days)
5	Mechanical Joint	Tappin	<u>g Sleeve wit</u>			49477
	36-x16-inch	EA	1	\$ 373400	s <u>5734∞</u>	8
6	Mechanical Joint	Gate V	<u>alve</u>			
	36-inch	EA	2	\$ 36820.00	\$ 73640.∞	opt 42
7	Restrainers				-	
	A. DI Pipe to MJ	Fitting	Туре			
	16-inch	EA	6	\$ 117.90	\$ 700.80	Ø
	18-inch	EA	6	\$ 166.86	\$ 1001.16	a
	20-inch	EΑ	6	\$ 206.93	\$ 1241.58	0
	24-inch	EA	6	\$ 287.34	\$ 1724.16	Ø
	36-inch	EA	6	\$ 848.02	\$ 5088. 12	Ø
8	Bolt and Gasket	<u>Kits</u>				
	16-inch	EA	8	\$ 22.16	\$ 177. ²⁹	05
	18-inch	EA	8	\$ 23.05	\$ 184.40	Ø
	20-inch	EA	8	\$ 25.30	\$ 205.40	8
	24-inch	EA	8	\$ 30.73	\$ 245.84	Ø
	36-inch	EA	8	\$ 69,73	\$ 557. 94	Ø

NOTE:

- 1. BIDS shall NOT include State of Florida and Bay County sales tax but shall include all other applicable taxes and fees.
- 2. BIDS shall be on the basis of a unit price and shall be the total compensation to be paid by OWNER for the complete materials and delivery.
- 3. The OWNER reserves the right to reject any and all bids received. The OWNER also reserves the right to purchase multiple combinations of pipe and fittings bid line items from separate bidders.
- 4. By submitting this BID, the BIDDER is deemed to have stipulated and agreed that any and all claims, demands, actions or suits whatsoever, arising under this Bid, shall be subjected to the sole and exclusive jurisdiction and venue of the Circuit Court of Bay County, Florida. The BIDDER does agree, by submittal of this BID, that the sole and exclusive jurisdiction and venue in said forum is proper and appropriate since performance of the underlying purchase order to be awarded is to be accomplished within Bay County, Florida.

PANAMA CITY BEACH - PIPE AND FITTINGS

SUPPLIER:

850-481-0788 Phone Number

05 | 21 | 2020 Date

[END OF SECTION 00030]

SECTION 00030

BID PROPOSAL FORM

This	proposal	of	For	tiline, Inc.				(hereinafter	called
"BIDDER"),	organized	and	existing	under the	e laws of	f the	State of	FL	_, doing
business as	3 <u>C</u>	orpoi	ration			_ (a ·	corporati	on, a partne	rship o
an individua	ıl), is hereb	y su	bmitted 1	to the CIT	Y OF PA			BEACH (her	•
called "OWI								•	

By submission of this BID, each BIDDER certifies, and in the case of a joint BID, each party thereto certifies as to its own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this BID with any other BIDDER or with any competitor.

The Undersigned, as Bidder, hereby declares that they have examined the bid specifications and informed themselves fully in regard to all conditions pertaining to the equipment to be supplied.

The Bidder proposes and agrees, if this proposal is accepted, to contract with the <u>City of Panama City Beach</u> for the unit price listed, in full and complete accordance with the shown, noted, described and reasonably intended requirements of the Specifications and Drawings to the full and entire satisfaction of the City of Panama City Beach, Florida, with a definite understanding that no additional money will be allowed for extra work/materials. Payment of 100% of contract amount will be made to the supplier within 30 days of delivery and acceptance by the OWNER. The Bidder further proposes and agrees hereby to furnish any required shop drawings within two weeks of receipt of a signed purchase order and furnish and deliver to the point of delivery within four consecutive weeks (28 calendar days) from approval of shop drawings unless indicated otherwise on the Bid Form.

Purchase will be made under terms and conditions specified by City in its form of Purchase Order. If a deposit is required, it must be specified below. Final payment, in readily available funds, will be made upon acceptance by City of strictly conforming goods after delivery and acceptance by the City. Strict adherence to the

PANAMA CITY BEACH - PIPE AND FITTINGS

Specifi	cations and ass	ociate	d Drawing	s is r	equired.			
BIDDE	R acknowledge:	s recei	pt of the f	ollow	ring ADDEN	DUM:		
Adden	dum No. 1 5/	19/20	SS					
Adden	dum No							
Adden	dum No							
BASE	BID:							
Please	e Note: ***							
	s class 50							Additional
The p	ipe restraints inclu	ude the	accessory	kit.				Delivery Time
tem								(in calendar days beyond
<u>Vo.</u>	Description	Unit	Quantity		Unit Price		Bid Amount	28 days)
1	Ductile Iron Pi							
	A. 18 LF Mech							
	16-inch	EA	1	\$	107.28	\$	2,145.60	
	18-inch	EA	1	\$	125.33	\$	2,506.60	
	20-inch	EA	1	\$	138.55	\$	2,771.00	
	24-inch	EA	1	\$	173.93	\$	3,478.60	
	B. 18 LF Push	-On Jo	oint					
	36-inch	EA	1	\$_	200.31	\$	4,006.20	
2	Ductile Iron Pi	pe (Ga	uged) wit	h Ce	ment Liner			
	A. 18 LF Mech	anical	Joint					
	16-inch	EA	1	\$_	81.06	\$	1,459.08	
	18-inch	EA	1	\$_	93.18	\$	1,677.24	
	20-inch	EA	1	\$_	106.39	\$	1,915.02	
	24-inch	EA	1	\$_	134.06	\$	2,413.08	
	B. 18 LF Push	-On Jo	int					
	36-inch	EA	1	\$	154.91	\$	2,788.38	
3	Mechanical Jo	int Sol	id Sleeve	(Lon	g) with Epox	y Line	<u>er</u>	
	16-inch	EA	2	\$_	585.05	\$	1,170.10	
	18-inch	EA	2	\$_	711.20	\$	1,422.40	
	20-inch	EA	2	\$	832.63	\$	1,665.26	
	24-inch	EΑ	2	\$_	1,061.05	\$	2,122.10	
	36-inch	EA	2	\$_	2,503.40	\$	5,006.80	
4	Mechanical Jo							
	36-inch	ĒΑ	2	\$	1,288.59	\$	2,577.18	

BASE BID (CONT'D)

<u>Item</u> <u>No.</u> 5	Description Stainless Steel T		Quantity Sleeve		<u>Unit Price</u> Romac STS 4,409.05		Bid Amount 4,409.05	Additional Delivery Time (in calendar days beyond 28 days)
6	36-x12-inch	EA	1	\$_	4,409.03	\$	4,408.00	
6	Mechanical Joint 36-inch	EA	<u>/alve</u> 2	\$_	37,894.74	\$	75,789.48	63 days
7	Restrainers							13 Wk Lead Time
	A. DI Pipe to MJ	Fitting	Туре					
	16-inch	EA	6	\$	151.19	\$	907.14	
	18-inch	EA	6	\$	202.77	\$	1,216.62	
	20-inch	EA	6	\$_	248.11	\$_	1,488.66	
	24-inch	EA	6	\$_	342.54	\$	2,055.24	
	36-inch	EA	6	\$_	966.42	\$	5,798.52	
8	Bolt and Gasket	<u>Kits</u>						77
	16-inch	EA	8	\$_	30.47	\$	243.76	
	18-inch	EA	8	\$	31.47	\$	251.76	
	20-inch	EA	8	\$_	35.60	\$	284.80	
	24-inch	EA	8	\$_	42.56	\$	340.48	
	36-inch	EA	8	\$	168.86	\$	1,350.88	

NOTE:

- 1. BIDS shall NOT include State of Florida and Bay County sales tax but shall include all other applicable taxes and fees.
- 2. BIDS shall be on the basis of a unit price and shall be the total compensation to be paid by OWNER for the complete materials and delivery.
- 3. The OWNER reserves the right to reject any and all bids received. The OWNER also reserves the right to purchase multiple combinations of pipe and fittings bid line items from separate bidders.
- 4. By submitting this BID, the BIDDER is deemed to have stipulated and agreed that any and all claims, demands, actions or suits whatsoever, arising under this Bid, shall be subjected to the sole and exclusive jurisdiction and venue of the Circuit Court of Bay County, Florida. The BIDDER does agree, by submittal of this BID, that the sole and exclusive jurisdiction and venue in said forum is proper and appropriate since performance of the underlying purchase order to be awarded is to be accomplished within Bay County, Florida.

PANAMA CITY BEACH - PIPE AND FITTINGS

SUPPLIER: FORTILINE WATERWORKS	Fortiline, Inc.
1417 Transmitter	Road, Springfield, FL 32405
Address	
850-785-7206	
Phone Number	
5/20/20	
Date	

[END OF SECTION 00030]

SECTION 02620 - STAINLESS STEEL PIPE AND FITTINGS

PART 1 - GENERAL

1.1 SCOPE OF WORK

- A. The MANUFACTURER shall furnish all labor, materials, equipment, and incidentals required to fabricate and deliver to the jobsite all stainless steel pipe and fittings complete, tested, and ready for installation, as shown on the Drawings and/or as specified herein.
- B. Omission of a specific item or component obviously necessary for the proper function of the system shall not relieve the MANUFACTURER from the responsibility of supplying that specific item or component at no additional expense to the Owner.

1.2 SUBMITTALS

- A. The MANUFACTURER shall submit to the OWNER, within twenty (20) calendar days after receipt of Notice to Proceed, a list of materials to be furnished and the date of delivery of materials to the site.
- B. Submit shop drawings to the OWNER for review in accordance with Section 01300, including all fittings, adapters, valves, and specials along with the MANUFACTURER's drawings and specifications indicating complete details of all items. The MANUFACTURER shall provide details of fittings to be furnished. The above shall be submitted to the OWNER for approval before fabrication and shipment of these items.
- C. Furnish in duplicate to the OWNER, prior to each shipment of pipe, submit MANUFACTURER certifications and certified test reports that the pipe and fittings supplied for this contract were manufactured and tested in accordance with the ASTM and ASME Standards specified herein.

1.3 QUALIFICATIONS

A. All stainless steel pipe and fittings shall be furnished by MANUFACTURER'S who are fully experienced, reputable, and qualified in the manufacturing of the material to be furnished. The pipe and fittings shall be designed, constructed, and installed in accordance with the best practices and methods and shall comply with these Specifications.

1.4 QUALITY ASSURANCE

A. All stainless steel pipe and fittings shall be from a single MANUFACTURER.

PART 2 - PRODUCTS

2. 1 MATERIALS

- A. Stainless steel pipe and fittings 2-inches through 48-inches shall meet the following requirements:
 - 1. Stainless steel pipe shall be Schedule 40, 316L stainless steel conforming to ASTM A-312/ASME S-A312, and ASTM A-358/ASME SA-358.
 - 2. Stainless steel fittings shall be Schedule 40, 316L stainless steel conforming to ASTM A-403 and ANSI B16.9/MSS SP 43 requirements.
 - 3. All stainless steel sheet and plate shall be extra low carbon (0.03%) maximum and meet ASTM/ASME standards.
 - 4. All stainless steel pipe and fittings shall be No. 1 hot-rolled annealed and pickled for finish. After all shop operations have been completed, all stainless steel materials shall be pickled and passivated (completely immersed for a minimum of 15 minutes in 10% nitric acid and 3% hydroflouric acid at 125 degrees F followed by a neutralizing rinse.
 - 5. Wall thickness tolerances shall be within the allowable ASTM/ASME limits.
 - Wall welding shall be done using the GTAW, GMAW and plasma arc welding processes by ASME qualified welders and ASME procedures for full penetration welds. Interior surfaces shall be smooth and uniform.
 - 7. All pipe and fittings shall be marked in accordance with the requirements of the applicable ASTM/ASME standard.
 - 8. Pipe and fittings shall be furnished with 125-pound pattern, flat faced flanged ends except where noted for field welding of the flange for fit-up.

2.2 TAPPING SLEEVES

A. Tapping sleeves shall be full circle, constructed of 316 stainless steel and in two halves. All tapping sleeves shall be Romac STS420, JCM 6452, Ford FTSAS series or preapproved equivalen. Bolts for the tapping sleeve shall be 316 stainless steel.

PART 3 - EXECUTION

3.1 SHIPPING AND DELIVERY

A. All stainless steel pipe and fittings shall be packaged on dunnage and wrapped (if required) for shipping and storage for a period of a minimum of three months (August through October) in ambient conditions for Panama City Beach, Florida in accordance with the MANUFACTURER'S recommendations.

END OF SECTION 02620





**Pricing for some of the products included in this quote may be impacted by Section 301 List 3: the proposed China tariff. In the event that the tariff is implemented, we will be forced to pass it on to the market. The actual price of these items may increase up to the rate of the tariff that is imposed. **

CUSTOMER NO	OHOTING DOMNOU	0110777		
	QUOTING BRANCH	QUOTE NO	QUOTE DATE	PAGE
202950 FORTILINE	PANAMA CITY	5963202	5/15/20	1
			0, 20, 20	

CUSTOMER

CITY OF PANAMA CITY BEACH 110 S ARNOLD RD PANAMA CITY BEACH, FL 32413-2140 PROJECT INFORMATION
PIPE AND FITTINGS MAY 2020

LINE	QTY	UOM	DESCRIPTION	UNIT PRICE	TOTAL PRICE
			PANAMA CITY BEACH PIPE AND FITTINGS MAY 2020		
	!		DUCTILE IRON PIPE (GAUGED) WITH P401 EPOXY LINER 18 LF		s
110	20	EA	16 DIP MECHANICAL JOINT P401 18 LF CLASS 50	107.2800	2,145.60
130	20	EA	18 DIP MECHANICAL JOINT P401 18 LF CLASS 50	125.3300	2,506.60
150	20	EA	20 DIP MECHANICAL JOINT P401 18 LF CLASS 50	138.5500	2,771.00
170	20	EA	24 DIP MECHANICAL JOINT P401 18 LF CLASS 00	173.9300	3,478.60
190	20	FT	36" TJ DIP GAUGED GUAGED PR250	200.3100	4,006.20
			18 LF P401 LINED CLASS 250		
			DUCTILE IRON PIPE (GAUGED) WITH CEMENT LINER 18 LF MJ		
260	18	EA	16 DIP MECHANICAL JOINT CEMENT 18 LF CLASS 50	81.0600	1,459.08
280	18	EA	18 DIP MECHANICAL JOINT CEMENT 18 LF CLASS 50	93.1800	1,677.24
300	18	EA	20 DIP MECHANICAL JOINT CEMENT 18 LF CLASS 50	106.3900	1,915.02
320	18	EA	24 DIP MECHANICAL JOINT CEMENT 18 LF CLASS 00	134.0600	2,413.08
350	18	EA	36" TJ DIP GAUGED GUAGED PR250 18 LF CLASS 250	154.9100	2,788.38
			MJ FITTINGS P401 EPOXY LINED:		
410 420 430 440 450	2 2 2 2 2	EA EA EA EA	16" MJ LONG SLEEVE P401 C153 18" MJ LONG SLEEVE P401 C153 20" MJ LONG SLEEVE P401 C153 24" MJ LONG SLEEVE P401 C153 36" MJ LONG SLEEVE P401 C153	585.0500 711.2000 832.6300 1,061.0500 2,503.4000	1,170.10 1,422.40 1,665.26 2,122.10 5,006.80
	<u> </u>				

ALL STOCK DELIVERIES ARE SUBJECT TO SHIPPING CHARGES

All PVC and HDPE material is quoted for shipment within 7 days of quote/bid date. All other material is quoted for shipment within 30 days of quote/bid date.

After 7 days for PVC and HDPE or 30 days for all other material, ALL quoted prices are subject to review based on current market conditions.

SECTION 00030

BID PROPOSAL FORM

This proposal of Piper Fittings / PCB. (hereinafter called "BIDDER"), organized and existing under the laws of the State of Florida, doing business as Lanier Municipal Supply Torc(a corporation, a partnership or an individual), is hereby submitted to the CITY OF PANAMA CITY BEACH (hereinafter called "OWNER").

By submission of this BID, each BIDDER certifies, and in the case of a joint BID, each party thereto certifies as to its own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this BID with any other BIDDER or with any competitor.

The Undersigned, as Bidder, hereby declares that they have examined the bid specifications and informed themselves fully in regard to all conditions pertaining to the equipment to be supplied.

The Bidder proposes and agrees, if this proposal is accepted, to contract with the <u>City of Panama City Beach</u> for the unit price listed, in full and complete accordance with the shown, noted, described and reasonably intended requirements of the Specifications and Drawings to the full and entire satisfaction of the City of Panama City Beach, Florida, with a definite understanding that no additional money will be allowed for extra work/materials. Payment of 100% of contract amount will be made to the supplier within 30 days of delivery and acceptance by the OWNER. The Bidder further proposes and agrees hereby to furnish any required shop drawings within two weeks of receipt of a signed purchase order and furnish and deliver to the point of delivery within four consecutive weeks (28 calendar days) from approval of shop drawings unless indicated otherwise on the Bid Form.

Purchase will be made under terms and conditions specified by City in its form of Purchase Order. If a deposit is required, it must be specified below. Final payment, in readily available funds, will be made upon acceptance by City of strictly conforming goods after delivery and acceptance by the City. Strict adherence to the

CITY OF PANAMA CITY BEACH WWTF TRANSFER PUMP

ADDENDUM NO. 1 (This Form Must Be Signed and Submitted With Bid Form)

May 18, 2020

Addendum No. 1 addresses the following issues:

SPECIFICATIONS

<u>Section 00000 - Table of Contents</u>

Delete this Section in its entirety and substitute therefor the revised Table of Contents attached hereto and made part of this Addendum.

Section 00030 - Bid Proposal Form

Delete this Section in its entirety and substitute therefor the revised Bid Proposal Form attached hereto and made part of this Addendum.

Section 02620 - Stainless Steel Pipe and Fittings

Add Section 02620 – Stainless Steel Pipe and Fittings in its entirety, found attached hereto and made part of this Addendum.

BIDDER:

BY: Thu M	
Richard W. CORBET	(Printed and Signed)
TITLE: President	
DATE: 5/20/2020	

SUPPLIER:

Lanier Municipal Supply, INC.
6998 Huy 77, Southport, Fl. 32409
Address

850 - 769 - 7006 Phone Number

<u>5-20-2020</u> Date

[END OF SECTION 00030]

Specifi	cations and asso	ociated	d Drawings	s is required.		
BIDDE	R acknowledges	recei	pt of the fo	ollowing ADDEND	UM:	
Adden	dum No. 1 dum No dum No					
BASE	BID:					
<u>Item</u> No.	Description	Lloit	Quantity	Unit Drice	Did Amount	Additional Delivery Time (in calendar days beyond
	Description	<u>Unit</u>		Unit Price	Bid Amount	28 days)
1	Ductile Iron Pip A. 18 LF Mech			1 Epoxy Liner		
	A. To Lr Mech	anicai EA	JOINT	6 111 06	\$ 1999.08	
	18-inch	EA	1	\$ 132.68	<u> </u>	
			1		\$ 2388, 24	
	20-inch 24-inch	EA EA	4	\$ 146.14	\$ 2630.52	
	B. 18 LF Push-		[_t_	\$ 186.93'	\$ 3364.74	
	36-inch	EA	oint 4	\$ 264.36	\$ 4794 48	
2			ا مافتر دا المصمرية		\$ <u>7./77</u>	
2	A. 18 LF Mech	-		Cement Liner		
	16-inch	EA	1	\$ 35.63	e 1511 34	
	18-inch	EA	1	\$ 101.49	9 18210,82	
	20-inch	EA	1	\$ 114.95	\$ 2069.10	
	24-inch	EA	1	\$ 148.26	\$ 2668.68	
	B. 18 LF Push		oint '		4 <u>8000.00</u>	
	36-inch	EA	1	\$ 206.00	\$ 3708.00	
3			lid Sleeve	(Long) with Epox	Lipor	·····
	16-inch	EA	2	\$ 399.00	\$ 79800	
	18-inch	EA	2	\$ 510,00	\$ 102000	
	20-inch	EΑ	2	\$ 5109 00	\$ 113800	
	24-inch	EA	2	\$ 677.00	\$ 135400	
	36-inch	EA	2	\$ 1611.00	\$ 3222.00	
4	Mechanical Jo	int So	lid Sleeve	(Long) with Ceme	ent Liner	
	36-inch		2	\$ 1411.00	\$ 2822.00	

BASE BID (CONT'D)

ltem						Additional Delivery Time (in calendar days beyond
<u>No.</u>	<u>Description</u>	<u>Unit</u>	Quantity	<u>Unit Price</u>	Bid Amount	28 days)
5	Stainless Steel T	apping	<u>Sleeve</u>			
314	36-x12-inch	EA	1	\$ 4437.00	\$ 4437.	
6	Mechanical Joint	Gate \	<u>/alve</u>		UD	
	36-inch	EA	2	\$ 34,900	\$ 69,200.00	
7	Restrainers			0		
	A. DI Pipe to MJ	Fitting	Туре		1 20	
	16-inch	EA	6	\$ 129.00	\$ 774.00	
	18-inch	EA	6	\$ 17000	\$ 102000	
	20-inch	EA	6	\$ 20000	\$ 120000	
	24-inch	EA	6	\$ 27500	\$ 165000	· · · · · · · · · · · · · · · · · · ·
	36-inch	EA	6	\$ 81500	\$ 4896.00	
8	Bolt and Gasket	<u>Kits</u>				
	16-inch	ĒΑ	8	\$ 28.00	\$ 224.00	
	18-inch	EA	8	\$ 3000	\$ 24000	
	20-inch	EA	8	\$ 3500	\$ 28000	
	24-inch	EA	8	\$ 4000	\$ 32000	
	36-inch	EA	8	\$ 8000	\$ 64000	
						

NOTE:

- 1. BIDS shall NOT include State of Florida and Bay County sales tax but shall include all other applicable taxes and fees.
- 2. BIDS shall be on the basis of a unit price and shall be the total compensation to be paid by OWNER for the complete materials and delivery.
- 3. The OWNER reserves the right to reject any and all bids received. The OWNER also reserves the right to purchase multiple combinations of pipe and fittings bid line items from separate bidders.
- 4. By submitting this BID, the BIDDER is deemed to have stipulated and agreed that any and all claims, demands, actions or suits whatsoever, arising under this Bid, shall be subjected to the sole and exclusive jurisdiction and venue of the Circuit Court of Bay County, Florida. The BIDDER does agree, by submittal of this BID, that the sole and exclusive jurisdiction and venue in said forum is proper and appropriate since performance of the underlying purchase order to be awarded is to be accomplished within Bay County, Florida.